
G=0, B=0, P=0

CA
X 

to
 B

B:
 3

.1
9m

m

WL G=0, C=0, P=0; Field=(20,
20)mm (shifts=((0, 0, 0), (20,

-20, 60))); BB=5mm @
left=18.79, in=-58.53,

up=-19.70; Gantry tilt=0,
Gantry sag=0.dcm

G=90, B=0, P=0

CA
X 

to
 B

B:
 3

.0
4m

m

WL G=90, C=0, P=0; Field=(20,
20)mm (shifts=((0, 0, 0), (20,

-20, 60))); BB=5mm @
left=20.47, in=-58.62,

up=-19.30; Gantry tilt=0,
Gantry sag=0.dcm

G=180, B=0, P=0

CA
X 

to
 B

B:
 2

.4
5m

m

WL G=180, C=0, P=0; Field=(20,
20)mm (shifts=((0, 0, 0), (20,

-20, 60))); BB=5mm @
left=18.27, in=-59.40,

up=-18.26; Gantry tilt=0,
Gantry sag=0.dcm

G=270, B=0, P=0

CA
X 

to
 B

B:
 2

.8
7m

m

WL G=270, C=0, P=0; Field=(20,
20)mm (shifts=((0, 0, 0), (20,

-20, 60))); BB=5mm @
left=19.07, in=-59.97,

up=-18.82; Gantry tilt=0,
Gantry sag=0.dcm

BB 'Iso': Left 0mm, Up 0mm, In 0mm


